5. bOOouogoonbooboobod

5-1. 00000.0000000000000000000000000000000
gad
oy:sinx(—§§x<2)DDDDy:arcsinx(—1§x§1
00000 Arcsinz,sin 'z 00000000
T T T T
oy:tanx(—§<x<§)DDDD y:arctanx(—§<y<§)DDD
00000 Arctan z, tan™! :CDDDDDDDD

oDDDDDarcsm:U—/

w|>1

<y<

N[

yooo

Toodt
arctanx =
\/T /t—O 1+ t2
1

(arctan )’ =

e (arcsinz) =

1— 22 1+ a2

e Taylor OO
= (-1 (-1 1 3 5
* arcsinx = E u( 2)x2"+1—x+ —t o —2P+ —a2" +. (|lz| < 1)
n

:0271—1—1 6 40 112
— (D" o Lg 15 14

* arctan x = E ~—— " =g — ¥ —2® — a2+ (|7 < 1)
24on 11 37 T5T 7

5-2. Euler 0O 0O.
e’ =cosx +isinz
eim + 6—@'33 . 6iw _ e—ix 6iw _ e—ix
e cosr=——, sinx=——— tanr=——
2 2i i(e® 4 ei)

e de Moivre 0 0 O O (cosz + isinz)"” = cosnx + isinnx
e 00000000« =a+ bi=re?

*r=la=va®>+?0a 0000 (absolute value)

x 0 =argal o 000 (argument) rcosf = a,rsinfd =b

53. bbud. gubbbuoobbbboooobbbuoooobn

e’ +e " . .
e coshz := TD 0000 (hyperbolic cosine)
e sinhz := %D 0000 (hyperbolic sine)
e tanhz := €+—D 0000 (hyperbolic tangent)
et t+e "
goodooooooboobbon
inh
e cosh?z —sinh?>z =1, tanhx = I
coshz
e (coshz) =sinhz, (sinhz) = coshz

o 100N
x cosh(z + y) = cosh x cosh y + sinh z sinh y
* sinh(x 4+ y) = sinh z cosh y + cosh z sinh y
tanh z 4 tanh y

1 + tanh z tanh y

* tanh(z + y) =
e TaylorJ O[O

o0

1 1, 1 1
* hz = n—1 _ _
oS nZO(Qn) Tt g g
> 1 1 1 1
inh 2 — 2n4+1 _ 23— 5 T
i ;(2n+1)!x TS T 0" Thoa” T

—20180000 DOOBIODOOODODO OOOOOODO 7—



5o-4. 00O0ogd.

() 000000000000 DDOOoU00DDOOU00OoDoOOd —g < arcsinz < 5

=)

Ogarccosmgﬂ,—g<arctanx<gDDDDDDDDD

1 1
(a) arcsinT (b) arccos —3 (c) arctan%
2)al |a<1 0000000000224+ y?*<1l,y>0,z>e000000000
Yy
goooo

tanh x aylor T
3 hx O Tayloo 00002 0000000000000 O0OOOOO
y = arcsinx aylor

4) 0000 i O Taylor OO O QOOOO

(a) zr=siny 0000000D00OOOCOOO

(b) arcsine 0000000

(c) DDD00ODO Taylor 00O OOODODOODOO
(5) 00000000 arctanz, arcsinh x,arctanhx OO0 0 Taylor 000000000

(6) /arcsina:dx O000MMOO00Oarcsing = (x)arcsine 0000000000

godd arcsinz JO0O0O0O0O0OOOO0ODODOOOO

(7) 0000 arctanz, arcsinh z,arctanhx 00 000000000000

(8) 00D C:2?—4?=1000 PODOO (cosht,sinht) 00O0DC OO0 1
0000 Pleosht,sinht) D00O0C OO0 A(L,0)00 POOD COOOO A
00000000 OAODO0O OPOy0ODOOODOOODOD SODODODMIDOO
000 224+4?2=10000000 M

5-5. bbbbbouuoooooobbbobbbobood. ooooooobboob
gooooobobbbbbobobobbboobooouoodooooooooooooon
gboboogubbog20bd0booobbobboobboobobboobboon
gobogoobbobooobboboooobbbooobbbooobbobooonbo
obogbboobooboobgooboobobooboobd

(1) e* 0 Taylor 00000000000 202 0:0000004#=-100000
00000000000 2000000000
() 0000000000000 00000€® =cosx+ising D00000
gdddddmooooooooooobbooboboobboouuuduuuuo
goboooooooogoooom
() 00000000000
] eix_e—ix ei:v_'_e—ix eiz_e—ix
smy = ———, Co0SLr=———, tanr=-——-——
2i 2 i(e™ 4 e~ir)
(o D0ODDOCODOOO0O0O0OODODDOOOOOOOOOODODODOO
(2) 0000000000000 0DO0OODOOOOOOOO

s s ) s ) T 2
(a) e6 = exp (%Z) (b) 2¢71 =2exp (—%Z) (c) e = exp (%Z)
(3) 000000000000 0UooooooooooOooo

(a) i (b) 2 4 2i (c) V3+i
4) 1++3i)" (n=0,1,2,...) 00000 0000000000O00000O00O0
0D000m

(5) ViOODOz?=i00000000

—20180000 DOOBIDOOODODO DOOOOOODO 8—



